QUIZ   6                                     Mark______

               Name______________

1. On the microscopic level what is the difference between the solid and liquid aggregation state of the same element.

2. What force is acting on a 1 cm2  external surface area of  a submarine, working at 5000 m depth in the Pacific Ocean.

(the density of the salted water of the Ocean is 1.2g/cm3, 

and the gravitational acceleration is g=10m/s2)

3. What is the buoyant force acting on a dime immersed in

water? (the mass of the dime is 10g, its density is 

9000 kg/m3, the density of water is 1000 kg/m3, and 

the gravitational acceleration is g=10m/s2)

